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""

what is the end - to -end argument?
↳ Don't implement

"

interesting
"

functionality at low layers .

yiran

2
.

How is E2E used in practice ?

↳ e.g.
Voice packets & reliable transfer

Shirley
3

.

Do
you agree w/ E2E avg

? why ?

↳ Simplicity & efficiency .

Used with caution .



]

Layering (Recap) One way
to think abort

EZE argument. . . -

EGG Application
- HTTP

,

SSH
,

FTP
,
SMTP

"

The libertarian view

Transport - TCPIUDP
of computer systems.

"

↳ let the
app

handle itJfs Network - IP
↳ full freedom for

-

Link -
Ethernet , wifi, - - -

-

the application

Physical - copper wire,
fiber

,
.

. . -

* more flexibility
* More wok

* less efficient
*get it worry

→
"

Dumb network
"



Case study : Robust file transfer

Server

/ DD#DDD
App
Transport
ptfetworh

Linh

Physical
* expensive
- imperfect )



Examples :

-UNIX - minimal abstractions (film)
Itt ( program- RISC versus CII DE↳ARM 1186--64

st x3.IO#0instrntion ↳"[§m÷÷.



of E2E

Benefits Drawbacks
- -

1- If going to implement functionality,

has to be compatible) harmonized

with layers above

+ Modularity- abstention
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1
.

What is the E2E argument?

↳ Functionality should be at highest levels of

the stack . ↳
Neymar does somethin

Network
↳ n't app doesn't need front

cost)
do enough



7

Layers

fagot Application
- Web HTTP ISMTPIFTPC

. .
. .

"

Transport - TCPNDP

- Network
- IP.iai:::÷¥÷
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.

How is E2E argument used in practice ?

↳
"

Open Oss
- Reliable transport in gateway I return

- checksum
--_
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.

Do
you agree with EZE argument

?

- Some benefits to having functionality at low levels

- In- network functionality can be
icy useful

→

"

Dumb netu.hr
"

"

Smt endpoint
"



of San at

Benefits nighestlapp Drawbacks
-

layer -

+ less redundancy
- Failure localization trade

+ No extra cost lnnneassar
- waste

Sambrnlity
g- Each app

has to regimental
+ Modularity
+ Simplicity of implementation

- Relies on dear aasifassnption

+ Perfume
- lose opportunities for optimization
↳ caching

+ Flexibility



simple#y DIY transport

*i
EITI



poll : which layer ? o

- o#D
→

- Encryption •#qO

* Denial - of - service prevention o
o


